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Negative high voltage

Nal 948V
Amp
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Gate generator

Gate Generator

delay width
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Gate2 through lp s
Gate3 through lp s
Gatel delay Gatel
Gate3 delay thro
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Coincidence
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Fixed delay

Fixed delay
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Delayl Gate2
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Delay1 V%
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Gate2
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Nal y TDC  start
stop
Coincidencel TDC stop
Coincidencel V%
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TDC  start stop
stop
Y
Gatel Gate3 Coincidence2
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T Nal y

AT

[1] Nal V% Amp Discriminator

[2] Delay1 105ns

[3] v Coincidencel TDC  stop

[4] Amp Discriminator

[5] Gate 1.05p s

[6] Coincidence2 TDC  stop

Amp Discriminator Coincidence [1]=[4] [3]=[6]

TDC
(TDC stop) (TDC start)=(t+[4]+[5]+[6]) (T+[1]+[2]+[3])
(T 9+[5] [2]
A +1.05u s 105ns
TDC A
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ADC

ADC vy ADC
ADC ADC
y Nal
Nal
Y Nal
ADC
% ADC
(energy[keV ])=ax (ADC D H I iE )+ b
y Nal
ADC Y
V% ADC
fit
ADC

V% fit

Y

Amp
Y
V% Na22 511keV vy Cs
622keV vy
% ADC
511keV 622keV
ADC 50.02 2683 3628
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TDC

TDC start
stop TDC ADC
TDC

(time[ns]) = a < (TDC DI 1fE )+ b

TDC TDC
TDC
fit
Ons 118ns 580ns 932ns
TDC
time(ns) 0 118 580 932
TDC 40 525 2392 3795
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ADC-TDC
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T

N(t)=N, exp[— Lj
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T I
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Root

calibration

ADC calibration
Energy(keV) = (ADC 49.48)x 0.1882

calibration

TDC calibration
Time(ns) =908.4 TDC x 0.2482

calibration

T Q calibration
TDC TDC 185914 ADC
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T Q calibration

908.4-tdc*0.2482 {500<adc&&4000>adc&&4000>tdc} | htemp

Entries 488167

Mean 25.39

- RMS 53.42
10° =
104 =
10° =
102 =

10 | | | | | | | | l | l | | | | | | |
0 200 400 600 800
908.4-tdc*0.2482
( ns)
ns 870ns
TDC T Q calibration

26



908.4-(tdc+185914/aclc)*0.2482 {500<adc&&4000>adc&&4000>tdc} htemp

Entries 488168
Mean -0.02322
RMS 50.46

10°

10*

10°

102

10

¥ —
[a]
S
o
o

200 400 600 800
908.4-(tdc+185914/adc)*0.2482

ns)

ns

27
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0.5 96.59 0.001 2.33
0.8 87.61 0.001 453
1.0 79.39 0.001 4.90
0.0( ) 136.9 0.001 3.97
TDC<3600,ADC<1600
P( / ) | T( )[nsec] | P T [nsec]
0.02 136.0 0.001 2.2
0.1 112.5 0.001 7.3
0.2 108.5 0.001 5.4
0.5 98.77 0.001 2.60
0.8 87.74 0.001 5.21
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1.0 79.5 0.001 4.93
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